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«.-1. ™e[u yk…u÷ ºký rðfÕ…ku{ktÚke fkuE yuf {wÆk …h ykuAk{kt ykuAk 250 y™u ðÄw{kt ðÄw 300 þçËku{kt, (20)
ÞkuøÞ WËknhýku™ku ykÄkh ÷E™u r™ƒtÄ ÷¾ku.

1.1 fkÞËku y™u ‚{ksÔÞðMÚkk – ðŒo{k™ ‚{Þ{kt ¼khŒ ‚k{u™k …zfkhku y™u «§ku

1.2 '…ku÷e‚ «ò™ku r{ºk’ – ‚qºk™e ‚kÚkofŒk r‚æÄ fhðk {kxu™k ykð~Þf ‚q[™ku

1.3 …ku÷e‚Œtºk™e fk{„ehe{kt ‚{qn{kæÞ{ku™ku Vk¤ku

«.-2. ™e[u yk…u÷ ºký rðfÕ…ku{ktÚke fkuE …ý ƒu …trõŒyku™ku ykþhu 100 þçËku{kt rð[khrðMŒkh fhku. (20)
(10 „wý  02 …trõŒyku)

2.1 nrh™ku {kh„ Au þqhk™ku, ™rn fkÞh™wt fk{ òu™u; …hÚk{ …nu÷wt {MŒf {qfe, ð¤Œk ÷uðwt ™k{ òu™u.
‚wŒ rð¥k Ëkhk þeþ ‚{h…u, Œu …k{u h‚ …eðk òu™u; ®‚Äw {æÞu  {kuŒe  ÷uðk, {ktne  …zâk {hSðk  òuu™u.

– «eŒ{Ëk‚
2.2 Ërhÿ™e yu W…nk‚÷e÷k ‚tfu÷ðk,

fkurxf S¼ Vu÷Œku
¼qÏÞkt s™ku™ku sXhkrø™ ò„þu;
¾tzuh™e ¼M{fýe ™k ÷kÄþu !

– W{kþtfh òuþe
2.3 [÷ {™ {wtƒE™„he,

òuuðk …wåA rð™k™e {„he !
ßÞkt {k™ð ‚ki r[ºkku suðkt,
ð„h r…Ak™u r{ºkku suðkt;
™nª …uxe ™nª rƒMºkku ÷uðkt,
yk ŒehÚk™e òºkk Au ™k y½he !

– r™hts™ ¼„Œ
«.-3. ™e[u yk…u÷ „ã¾tz™ku (319 þçËku), {q¤ rð[kh s¤ðkE hnu yu heŒu ÷„¼„ 1/3 ¼k„{kt ‚tûku… fhku. (15)

ðiþk¾™e ƒ…kuh™k ykfhk Œk…{kt nwt hkus òuô Awt : yuf {fk™ …h ðÄkhk™ku yuf {k¤ ÷uðk™e ŒiÞkhe [k÷e
hne Au. {kÚku fþe AºkAkÞk rð™k, fuð¤ ‚qÞo™e r™cwh árü ™e[u, W½kzk þhehu, ©{Sðeyku fk{ fhe hÌkk
Au. fk¤k yƒ™q‚ suðkt yu{™kt þheh …h‚uðkÚke Œ„Œ„e QXâkt Au. ykfhk Œk…{kt ykfhe {sqhe fhe hÌkk Au
™u AŒkt yu{™u {kuZu „eŒ Au. yu{™kt þheh™kt n÷™[÷™™k ÷Þ ‚kÚku yu™ku ÷Þ ƒhkƒh {¤e òÞ Au.
ƒ¤ƒ¤Œe ƒ…kuh{kt yk ÷Þ yuf yð™ðe fýo{ÄwhŒk ‚So Ëu Au.
ƒeS ƒksw ÷ø™{tz…ku{kt ðh½kuzkyku{kt rVÕ{e „eŒku™e [e‚k[e‚ ‚t¼¤kÞ Au. yu™u fkuE ‚kt¼¤Œwt ™Úke,
AŒkt yuf h‚{ ¾kŒh yu „eŒku ð„kzðk{kt ykðu Au. …kuŒk™u Ÿ[k MŒh™k y™u ‚tMfkhe {k™Œk ÷kufku ÷ø™
‚{Þu þhýkE ð„kz™kh™u ƒku÷kðu Au. þhýkE ð„kz™kh yuf÷kuyxq÷ku …ze òÞ Au. ÷ƒ ÷ƒ „w÷kƒòtƒw
„¤u WŒkh™khk fu rþ¾tz [kx™khk yk þhýkE™k ÷Þ™u þe heŒu yku¤¾u ?
s„Œ yk…ýe ¼k»kk{kt ƒku÷Œwt ƒtÄ ÚkE „Þwt Au, s„Œ ‚kÚku™ku yk…ýku ‚tðkË Œqxâku Au. yuÚke s Œku yk…ýu
s„Œ{kt ykfrM{f heŒu ykðe [Zâk nkuEyu yuðwt ÷køÞk fhu Au. þnuh …k‚u ÚkE™u s ™Ëe ðne òÞ Au, …ý
yu™k ðnuðk™ku ÷Þ yk…ý™u ‚t¼¤kŒku ™Úke. ‚{wÿ™k ¼hŒe-ykuxÚke yýòý yk…ýu, ‚{wÿ™e …k‚u hne™u,
SÔÞu sEyu Aeyu. ð]ûkku™ku …ýo{{oh fu …t¾eyku™ku f÷hð, fk[ªzk™wt [w…feËeÚke ‚hfðwt, ™kur¤Þk™wt yuf
ðkz{ktÚke ƒeS ðkz{kt ‚tŒkE sðwt – yk ƒÄktÚke yýòý, «f]rŒ ðå[u AŒkt «f]rŒ{ktÚke s nË…kh ÚkÞk
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nkuEyu, yu{ yk…ýu Sðeyu Aeyu. …kÞÚkk„kuhk‚u Œku ™ûkºk™e „rŒ™wt ‚t„eŒ ‚kt¼¤u÷wt, nðu yk…ýu Œkhkyku™u
hkŒu r™Þku™ ÷kEx™k Í¤n¤kx{kt òuðkÞ þe heŒu …k{eyu ?
nwt …whký{ŒðkËe ™Úke, …ý yk™tËðkËe Œku Awt s. yk™tË{ktÚke s yk…ýu ‚ki sLBÞk Aeyu y™u yk™tË s
yk…ýwt …ku»ký Au. Sð™ ½x{k¤ ƒ™e òÞ Œu RåA™eÞ ™Úke. ÞtºkÞw„{kt {k™ðeyu yuf ™ðk s «fkh™e
yuf÷Œk y™w¼ðe. yu™k fkÞo ‚kÚku™ku yu™ku fŒ]oíð™ku ŒtŒw AuËkE „Þku. yu™wt fkÞo yu™u ƒeòyku ‚kÚku …ý
òuzŒwt, nðu yu™e yuf÷ðkÞk…ýk™e ÷k„ýe Œeðú ÚkŒe òÞ Au. s„Œ™k fkÞoûkuºk{ktÚke Ëqh VUfkŒku VUfkŒku yu
Xk÷ku ƒ™Œku òÞ Au. yk Xk÷k…ýwt yu™u fþwtf fhðk™u W¥kursŒ fhu Au. yu ®n‚k ŒhV ð¤u Au, W…ÿðku Q¼k
fhu Au.

‘Sð™ …ý W¥k{ f¤k’ (…~ÞLŒe) – ‚whuþ òu»ke
«.-4. ™e[u yk…u÷ „ã¾tz™e ‚½™ ðk[™k fhe «§ku™k W¥khku yk…ku. (3 „wý  5 «§ku)  (15)

yk…ýe nk÷™e «kLŒeÞ ¼k»kkyku ƒnw {kuxu ¼k„u ‚tMf]Œ ¼k»kk™wt ¾kŒh [q‚e™u QAhu÷e rðrðÄ ðu÷eyku Au
yu{kt þtfk ™Úke. …ý ƒnw {kuxu ¼k„u™ku yÚko ‚kuyu ‚ku xfk™k suðku ‚{sðk {ktzeyu Aeyu íÞkhu ƒu-ºký
«fkh™e rËþk¼q÷ ÚkkÞ Au. …nu÷e yu fu ‚tMf]Œ ¾kŒh™ku ¼k„ ƒnw {kuxku nkuÞ, ŒkuÞ Œu{kt ƒeS ¼k»kk™kt
¾kŒhku …ý Au s, y™u ‚tMf]Œ yu™k ‚krnríÞf MðY…{kt ™Úke, …ý «kf]Œ yÚkðk rðf]Œ (yux÷u rð÷ûkýf]Œ)
Y…u{ktÞu Au, yu ¼q÷e sEyu Aeyu. yk fkhýÚke yuf s ‚tMf]Œ þçË swËe swËe ¼k»kkyku{kt swËk swËk yÚkkuo{kt
ð…hkÞ Au, Œu{ s yuf s yÚko{kt swËe swËe ¼k»kkyku swËk swËk ‚tMf]Œ þçËku …ý ðk…hu Au yu ¼q÷e sE Aeyu.
ƒeS ¼q÷ yu ÚkkÞ Au fu yk…ýu yuðwt {k™Œk ÚkÞk Aeyu fu {w‚÷{k™ku ŒÚkk yt„úuòu™k ykÔÞk …nu÷kt ‚tMf]Œ
fw¤Úke MðŒtºk ¼k»kkyku ƒku÷™khk òýu fkuE «òs™ku yk Ëuþ{kt ™nkuŒk s, yÚkðk nŒk ŒkuÞu Œu{™e ƒku÷eyku™ku
yk…ýe nk÷™e ¼k»kkyku{kt fþku s Vk¤ku ™Úke. ‚k[e ðkŒ Œku yu Au fu yk…ýe «[r÷Œ ¼k»kkyku ‚tMf]Œ
(Œí‚{ fu ŒKð) + MÚkkr™f, Œu{ s …whkýe fu ™ðe ykðu÷e «òyku™e ¼k»kkykuÚke ‚khe …uXu r{r©Œ Au, y™u
fuð¤ {w‚÷{k™e (Vkh‚e-yhƒe) fu yt„úuS ¼k»kkykuÚke s r{r©Œ ÚkÞu÷e ™Úke. ºkeswt, yk…ýu yu ðkŒ ¼q÷e
sEyu Aeyu fu ¾wË ‚krnríÞf ‚tMf]Œ{kt …ý yLÞ ¼k»kkyku™ku W{uhku ÚkÞu÷ku Au. fux÷kÞ ÿkrðze ¼k»kkyku™k
þçËku Œí‚{ fu ŒKð (yux÷u ‚tMf]Œ-f]Œ) Y…{kt, ŒÚkk fux÷kÞu „úef ð„uhu ¼k»kkyku™k þçËku …ý Au. yk…ýe
árüyu yk…ýu yu™u ‚tMf]Œ ƒ™kðu÷k „ýeyu Aeyu; yu ¼k»kkyku ƒku÷™khkyku™e árüyu Œu rðf]Œ fu ŒKð
ƒ™u÷k „ýkÞ. yk{ ‚tMf]Œ fu «[r÷Œ fkuE …ý ¼k»kk y‚tfh ™Úke. …ý yu …kA÷k ‚tfhku™u yk…ýu …[kðe
÷eÄk Au, y™u yu™wt ‚{íð …ý Wí…LLk ÚkÞwt Au, yuÚke yk…ýe ¼k»kk ƒ„ze ™Úke, ðÄe Au, ‚{]Ø ÚkE Au, yu™u
«ktŒeÞ rðrþüŒkyku «kÃík ÚkE Au, þwØ ‚tMf]Œ fhŒkt yuðk Œ¤…Ëk (MÚkk™eÞ) þçËku ðÄkhu …‚tË fhðk ÷kÞf
Au, yu{ …ý {k™ðk ÷køÞk Aeyu. ‚t¼ð Au fu su su s{k™k{kt ykðe ¼u¤‚u¤ ÚkE íÞkhu yu™ku ‚ífkh ™nª
ÚkÞku nkuÞ, …ý yr™ðkÞo ÚkE …zâk …Ae yu™u rðþu {{íð ƒtÄkÞwt nþu. ykðe fux÷e ¼k»kk™e ™Ëeyku yk…ýe
nk÷™e ¼k»kkyku{kt ¼¤u÷e nþu, Œu „ýkððwt …ý {w~fu÷ Au.
{w‚÷{k™ku y™u yt„úuòu™k yk„{™ …Ae Œu{™e ¼k»kkyku™k þçËku, «Þku„, …rh¼k»kkyku ð„uhu yk…ýe
¼k»kkyku{kt Ëk¾÷ ÚkkÞ Œu{kt fktE s ykùÞo …k{ðk suðwt ™Úke. Œu{ýu yk…ý™u SíÞk, yk…ýk …h hkßÞ
fÞwO, yk…ý™u þh®{Ëk fÞko, Œu™wt ¼÷u yk…ý™u Ëw:¾ ÷k„u ŒuÚke ¼k»kkyku™e fu ‚tMf]rŒyku™e ¼u¤‚u¤ rðþu
fþwt hku»k ÷„kzðk suðwt ™Úke. «òyku «òyku ðå[u ‚tƒtÄku ƒtÄkððk™u y™uf r™r{¥kku ÚkkÞ Au. …kzkuþ, ðu…kh,
«ðk‚, ‚krníÞþku¾ ð„uhu îkhk su{ ‚tƒtÄku ƒtÄkÞ Au, Œu{ ®n‚k…hkÞý s„Œ{kt yk¢{ý y™u nkhSŒ îkhk
…ý ‚tƒtÄku ƒtÄkÞ Au. ƒÄkt™kt Eükr™c …rhýk{ku ykðu Au. ƒÄkt™e yufƒeò™e ¼k»kk y™u ‚tMf]rŒ W…h ‚khe
{kXe y‚h ÚkkÞ Au, su™e su rðrþüŒk nkuÞ, Œu™e ¼k»kk{kt Œu™u ÷„Œk ¾k‚ þçËku …ý nkuÞ, ƒeS ¼k»kk{kt
Œu™u ƒhkƒh «„x fh™khk fkuE þçË ™ nkuÞ yu{ ƒ™u. Œuðu ð¾Œu …kuŒk™e ¼k»kk™ku fkuE ™ðku þçË ƒ™kððku
‚k{kLÞ s™Œk™u ‚qÍu ™nª; fkhý fu yu{ fhðwt Mðk¼krðf ™Úke. fkuE ðkh yu™k …ÞkoÞY… ƒeòu þçË nkuÞ,
ŒkuÞu Œu ™ðku þçË ðk…hðk{kt ‚„ðz hne nkuÞ yu{ ƒ™u. yu™u …rhýk{u fkt Œku ƒt™u þçËku [k÷u yÚkðk …kuŒk™ku
¼w÷kE …ý òÞ yu{ ƒ™u. yu y‚{k™ «ðknku ¼u¤k ÚkkÞ íÞkhu {kuxku yÚkðk òuhËkh «ðkn ™k™k fu r™ƒo¤
«ðkn™u yxfkðe Ëu Au yuðwt su{ s¤ y™u ðkÞw rðþu ƒ™u Au, Œu{ ¼k»kkyku rðþu …ý ƒ™u Au.

rfþkuh÷k÷ {þYðk¤k
‘‚{q¤e ¢ktrŒ’
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«§ku :

4.1 ÷u¾f™k {Œu ‚tMf]Œ ¼k»kk™ku «ktŒeÞ ¼k»kkyku ‚kÚku™ku ‚tƒtÄ fuðk «fkh™ku Au ?
4.1 ‘‚tMf]Œ fu «[r÷Œ fkuE …ý ¼k»kk y‚tfh ™Úke.’ – ÷u¾f ykðwt þk {kxu fnu Au ?
4.3 ÷u¾f™e árüyu ðŒo{k™ ¼k»kkyku fE heŒu yrMŒíð{kt ykðe Au ?

4.4 ÷u¾f {wsƒ ¼khŒ{kt yt„úuòu™k yk„{™Úke ¼khŒeÞ ¼k»kkyku …h fuðe y‚h ÚkE ?
4.5 ÷u¾f ¼k»kkyku™k yrMŒíð rðþu þwt {tŒÔÞ yk…u Au?

«.-5. þnuh ‘y ƒ f’™e {æÞMÚk su÷™k …kfk fk{™k fuËeyku îkhk h[ðk{kt ykðu÷kt r[ºkku™kt «Ëþo™™wt ykÞkus™  (10)
fhðk{kt ykðu÷ Au. hkßÞ™k yrÄf …ku÷e‚ {nkr™Ëuþf©e, su÷ y™u ‚wÄkhkí{f ðneðx yk «‚t„u W…rMÚkŒ
hne «Ëþo™™wt WË½kx™ fhðk™k Au. ‚so™kí{f Sð™™e «uhýkÚke fuËeykuyu ŒiÞkh fhu÷kt r[ºkku yt„u
yð÷kuf™kí{f rð„Œku yk…Œwt {nkr™Ëuþf©e™wt yki…[krhf ¼k»ký ŒiÞkh fhku. (ykþhu 150 þçËku)

«.-6. ‘f ¾ „’ þnuhu MðåAŒk ‚ðuoûký{kt «Úk{ ¢{ {u¤ÔÞku Au. {nk™„h …kr÷fk îkhk yk ‚V¤Œk nkt‚÷  (10)
fhðk {kxu nkÚk Ähðk{kt ykðu÷e rðrðÄ fk{„ehe™u ðýoðŒwt, þnuh™k {uÞh©e™wt …ºkfkh …rh»kË {kxu™wt
WËTçkkuÄ™ ŒiÞkh fhku. (ykþhu 150 þçËku)

«.-7. rðï™k ‚kiÚke {kuxk MxurzÞ{™kt WË½kx™ «‚t„u ¼khŒ™k ykËhýeÞ ðzk«Äk™©e™wt «[kh {kæÞ{ {kxu™wt  (10)
MxurzÞ{ yt„u™e Œ{k{ rð„Œku yk…Œwt r™ðuË™ ŒiÞkh fhku. (ykþhu 100 þçËku)

«.-8. þnuh ‘Œ Úk Ë’™k ƒk¤‚thûký„]n™kt ƒk¤fku™u «urhŒ fhðk™k ykþÞÚke rfhý ƒuËe™e Sð™fÚkk ðýoðŒku (10)
«kuí‚knf …ºk ÷¾ku. (ykþhu 100 þçËku)

«.-9. rðr¼LLk «fkh™kt ÷u¾™ku{kt „wshkŒe ¼k»kk{kt ÚkŒe òuzýe™e ¼q÷ku yt„u ™khks„e ÔÞõŒ fhe yk ‚{MÞk™u (10)
Ëqh fhðk {kxu {k„oËþo™ yk…Œwt [[ko…ºk ‘… ¼ {’ ðŒo{k™…ºk™k Œtºke©e™u ÷¾ku. (ykþhu 150 þçËku)

«.-10. ‘Ë Ä ™’ ft…™e ykì™÷kE™ zuxk {u™us{uLx™wt fk{ fhu Au. ‘rzrsx÷ …ku÷e‚’ „]n {tºkk÷Þ™ku «fÕ… Au. (15)
yk ðuƒ‚kEx …h «ò îkhk fhðk{kt ykðŒe r¼LLk «fkh™e hsqykŒku™u ykÞkursŒ fhe ‚tƒtrÄŒ rð¼k„
‚wÄe …nkU[kzðk {kxu ykð~Þf fk{„ehe™ku fkuLxÙkõx {u¤ððk {kxu™wt yhS…ºk ŒiÞkh fhku.
(ykþhu 150 þçËku)

«.-11. Œ{u ™uþLk÷ ðkìh {u{kurhy÷, ™ðe rËÕne™e ÷eÄu÷e {w÷kfkŒ™ku ynuðk÷ ÷¾ku. (ykþhu 150 þçËku) (15)

«.-12. „wshkŒ xwheÍ{ îkhk WsðkŒk ‘yktŒhhk»xÙeÞ …Œt„ {nkuí‚ð - 2020’{kt yk… y™u yk…™k r{ºkku ‚n¼k„e (10)
ÚkÞk. yk Wí‚ð Ëhr{Þk™ Œ{u …Œt„ku™k r¼Òk fhŒƒku {kÛÞk. Œ{khk r{ºk ‚kÚku yk y™w¼ð yt„u™e h‚«Ë
[[ko fhŒku ‚tðkË ÷¾ku. (ykþhu 150 þçËku)

«.-13. yk…u÷ yt„úuS „ã¾tz™ku „wshkŒe{kt ¼kðkí{f y™wðkË fhku. (20)

As a Buddhist monk, my concern extends to all members of the human family and, indeed, to
all sentient beings who suffer. I believe all suffering is caused by ignorance. People inflict
pain on others in the selfish pursuit of their happiness or satisfaction. Yet true happiness
comes from a sense of brotherhood and sisterhood. We need to cultivate a universal responsi-
bility for one another and the planet we share. Although I have found my own Buddhist
religion helpful in generating love and compassion, even for those we consider our enemies,
I am convinced that everyone can develop a good heart and a sense of universal responsibility
with or without religion.

With the ever growing impact of science on our lives, religion and spirituality have a greater
role to play reminding us of our humanity. There is no contradiction between the two. Each
gives us valuable insights into the other. Both science and the teachings of the Buddha tell us
of the fundamental unity of all things. This understanding is crucial if we are to take positive
and decisive action on the pressing global concern with the environment.
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I believe all religions pursue the same goals, that of cultivating human goodness and bringing
happiness to all human beings. Though the means might appear different the ends are the
same.

His Holiness the Dalai Lama
Excerpt from Nobel Peace Prize Acceptance Speech

«.-14. ‚q[™k «{kýu „wshkŒe ÔÞkfhý™u ÷„Œk «§ku™k W¥khku yk…ku. (2  10 = 20 økwý) (20)

14.1 YrZ«Þku„ku™ku yÚko yk…e Œu{™ku ðkfâ{kt «Þku„ fhku.

14.1.1 „hË™ {khðe
14.1.2 ËktŒu Œhýwt ÷uðwt

14.2 fnuðŒku™ku yÚko ‚{òðku.

14.2.1 ðu¤kðu¤k™e AktÞze
14.2.2 hktf™u ½uh hŒ™

14.3 ‚{k‚™ku rð„ún fhe Œu™e yku¤¾ yk…ku.

14.3.1 szƒkŒkuz
14.3.2 ½™~Þk{

14.4 …trõŒyku™k AtË yku¤¾kðku.

14.4.1 ò„e™u òuô Œku s„Œ Ëe‚u ™net
Ÿ½{kt yx…xk ¼ku„ ¼k‚u

14.4.2 ƒ[u÷e su Úkkuze þheh Œýe hu¾kf]rŒ Íeýe,
ð¤kðe Œu ykÔÞk Vq÷ ‚h¾e Vkuhe s™™e™u.

14.5 y÷tfkh yku¤¾kðku.

14.5.1 {™u¾ suðk {™u¾™u f…hku fk¤ ykÔÞku.
14.5.2 f{¤f¤e Úkfe fku{¤wt hu ƒu™e yt„ Au yu™wt!

14.6 þçË‚{qnku {kxu yuf þçË yk…ku.

14.6.1 ½ýk …kufkh fhðk AŒkt fkuE ™k ‚kt¼¤u Œuðwt ÁË™
14.6.2 fne ™k þfkÞ yuðwt

14.7 þçËku™e òuzýe ‚wÄkhku.

14.7.1 ‚t„e™e
14.7.2 ‚tMÚkeŒe

14.8 ðkfâku{kt òuzýe y™u ðkfâh[™k™e ¼q÷ku ‚wÄkhku.

14.8.1 þwÔÞðrMÚkŒ hkßÞŒLºk{kt ‚wðefr‚Œ [e¥kðk¤e ÔÞõŒe{kt yu ‚{kLŒh…ýu rðfk‚ …k{u Au.
14.8.2 y™uf þkn[Þkuo, ðehkuÄku y™u ‚káMÞku ÞkuS™u yu ƒÄwt ‚ktfzŒku òÞ Au.

14.9 þçËku™e ‚trÄ òuzku y™u Akuzku.

14.9.1 ‚trÄ òuzku - r™MkT + þçË
14.9.2 ‚trÄ Akuzku – rþhku{rý

14.10 ðkfâh[™k yt„u yk…u÷ ‚q[™k {wsƒ W¥kh yk…ku.

14.10.1 «uhf ðkfâ ƒ™kðku – Íkz …zâwt.
14.10.2 rðrÄ ðkfâ{ktÚke r™»kuÄ ðkfâ ƒ™kðku – Œ{khe sðkƒËkhe {khk …h.
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PSM - 2
Subject : English

Time : 3 Hours                    Mkq[Lkk : s{ýe çkkswLkk yktfzk «&™Lkk økwý Ëþkoðu Au. Max. Marks : 200

Q.-1. Write an essay on any ONE of the following in minimum 200 to maximum 250 words. (20)
It must exhibit your grasp and critical understanding of the subject in the best possible
individual style having originality of thought and expression. It must be well argued piece
of writing coherently and sequentially with observance of grammatical rules.
I. Good Governance depends on ability to take responsibility by both administration as

well as people.
II. Balance between Persuasion and Coercion: Role of Police in Controlling Rioting Mobs.
III. Measures to Control Cyber Crimes.
IV. Impact of Global Trade War on Indian Economy.
V. Role of Gram Panchayat in Strengthening Democracy in India.

Q.-2. Imagine you are, a Police Inspector at Gandhinagar Police Station. The DySP, (15)
Gandhinagar has asked you to study the possibilities and measures for getting rid of
the stack of very old vehicles lying in the compound of the Police Station. Write a letter,
in about 150 words to the DySP, Gandhinagar apprising him of the finding of the study.

Q.-3. Draft a press release in about 200 words as Police Commissioner, Traffic, Ahmedabad (20)
City about the restrictions of traffic flow arid change in routes leading to Motera Cricket
Stadium due to the upcoming One Day international Cricket match.

Q.-4. Draft a press appeal in about 100 words as the Public Relation Officer of the Ministry of (15)
Home Affairs, Gujarat appealing the people to refrain from being misguided by anti-
social elements in wake of Citizenship Amendment Act.

Q.-5. Write a report in about 150 words on the recent Republic Day Celebrations held at Rajkot. (20)
Q.-6. A girl has just graduated and wants to prepare for Gujarat Police Service. Draft a dialogue (15)

in about 150 words between her and her professor about the prospects of women in police
services.

Q.-7. Draft a formal speech in about 150 words to be delivered by the Home Minister of the state (15)
at Gujarat Police Academy, Karai on the event of Passing out Parade of Police Inspector
batch.

Q.-8. Write a précis of the following passage in about one third of its original length. (20)
Invention is one thing, practical application is another. So many inventors have failed,

despite ingenious ideas and great diligence, because they had no business experience and did
not know how to tell the world about their inventions. Edison was remarkable in both the
fields. As soon as he had developed his electric lamp to the point where it would burn-for 500
hours, and he was sure that it could be mass produced, he set about to explore the industrial
and commercial possibilities.

First he invited everybody who wanted to come to see his electric lamps at Menlo Park.
On New Year’s Eve, 1880, thousands of visitors availed themselves of this unique, opportunity.
They were greeted by the glow of hundreds of lamps strung along two wires on the road from
the station to the laboratory. Financial backers were greatly interested and finally Edison put
forward his big project, to turn whole district of New York into the first electricity lit area of
metropolis.

There followed two years of almost insuperable difficulties - technical, organizational,
financial -until power station had been built, 900 building wired, thousands of meters installed,
and 14,000 incandescent lamps put in as many sockets. Everything had to be invented, adapted,
organized, and improvised. It was Edison’s greatest adventure; September 4, 1882 was to be
The Day.

‘The thousands of electric lamps in the hundreds of buildings throughout the area burst
into a bright and mellow brilliance as the switch was pulled at a signal from the famous
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inventor’, reported New York Herald. ‘Lo and behold, the dim flicker of gas was supplemented
by a steady beam, under which one could sit down and write for hours without the consciousness
of having any artificial light about him -What his critics said was impossible, the wizard of
Menlo Park has made an everyday reality’. (307)

Q.-9. Read the following passage carefully and answer questions that follow. (20)
The food we eat seems to have profound effects on our health. Although science has

made enormous steps in making food more fit to eat, it has, at the same time, made many
foods unfit to eat. Some research has shown that perhaps eighty per cent of all human illnesses
are related to diet and forty per cent of cancer is related to the diet as well, especially cancer
of colon. People of different cultures are prone to contract certain illness because of the
characteristic foods they consume.

That food is related to illness is not a new discovery. In 1945, government researchers
realized that nitrates and nitrites (commonly used to preserve colour in meats) as well as other
food additives caused cancer. Yet, these carcinogenic additives remain in our food, and it
becomes more difficult at all times to know which ingredients on the packaging labels of
processed food are helpful or harmful.

The additives that we eat are not all so direct. Farmers often give penicillin to cattle and
poultry, and because of this, penicillin has been found in the milk of treated cows. Sometimes
similar drugs are administered to animals not for medicinal purposes, but for financial purposes.
The farmers are simply trying to fatten animals in order to obtain a higher price in the market.
Although the Food and Drug Administration exercises a control over such misuse of drugs,
the practices continue.

A healthy diet is directly related to good health. Often we are unaware of detrimental
substances we ingest. Sometimes well-meaning farmers or others who do not realize the
consequences add these substances to food without our knowledge.
Questions :
1. How has science done a disservice to mankind?
2. The word ‘prone’ in sentence 4 is nearest meaning to:

(i) Supine       (ii) Unlikely       (iii) Healthy       (iv) Predisposed
3. What are nitrates used for?
4. What does FDA stand for?
5. The word ‘these’ in sentence 7 refers to:

(i) Meats (ii) Colours       (iii) Researchers       (iv) Nitrates and nitrites
6. Find the word in the passage which means ‘cancer casusing’.
7. Find the word in the passage which means ‘attached subsatances’.
8. The word ‘fit’ in sentence 2 is closest in meaning to:

(i)  Athletic        (ii) Tasty       (iii) Suitable       (iv) adaptable
9. Find the synonym for ‘consume’ in the passage.
10. Give a suitable title to the passage.

Q.-10. Do as directed : (20 x 1 = 20) (20)

Choose the correct answer from the given options and darken the circle ( ) as well as write
the correct answer in the bracket ( CAPITAL LETTER) as per the sample given below.
(1 x 20 = 20) 20

Sample Answer : ( C )         (A)               (B)               (C)               (D) 
1. Most people (attend) the union meeting if they had had longer notice of it. (Insert

the verb in correct tense)
(A) attend (B) attended
(C) have attended (D) would have attended
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2. He will be taking his exam next week. (Rewrite the sentence in present tense without
changing the meaning)
(A) He is taking his exam next week.
(B) He shall take his exam next week.
(C) He could be taking his exam next week.
(D) Next week he will take his exam.

3. They searched his house and found a number of stolen articles. (Change the voice)
(A) They searched his and a number of stolen articles were found.
(B) His house was searched and a number of stolen articles were found.
(C) His house was searched and they found a number of stolen articles.
(D) They found a number of stolen articles upon his house being searched.

4. You must shut these doors. (Change the voice)
(A) Let these doors shut. (B) The doors must be shut without fail.
(C) These doors must be shut. (D) She shut these doors.

5. “Could you wait a moment?” said he to me. (Change narration)
(A) He questioned me that I can wait a moment.
(B) I told him to wait a moment.
(C) I can wait for a moment.
(D) He asked me to wait a moment.

6. “You’d better wear a coat. It’s very cold out.” He said. (Change narration)
(A) He advised me to wear a coat as it was very cold out.
(B) He advised me that it would be better to wear a coat in cold.
(C) He requested me if I can wear his coat as it was very cold out there.
(D) He requested me to wear a coat whenever there is very cold out.

7. We are going to _______ tea with _______ Sharmas today. Aren’t we?
(Supply suitable articles, if necessary)
(A) no article required, the (B) a, the
(C) the, the (D) no article required, a

8. I’m going to wait _______ it stops raining. (Supply appropriate preposition)
(A) till (B) as far as (C) for (D) as soon as

9. I cannot repeat _______ you what she said to me _______ confidence.
(Supply appropriate preposition)
(A) what, for (B) to, in (C) what, with (D) to, for

10. Match the phrasal verbs with their meaning:
i.   put off a. postpone
ii.  put up with b. tolerate
iii. put down c. to insult
iv.  put on d. to dress oneself
(A) i-a, ii-b, iii-c, iv-d (B) i-b, ii-a, iii-c, iv-d
(C) i-c, ii-d, iii-a, iv-b (D) i-b, ii-a, iii-d, iv-c

11. Match the idioms with their meaning:
i.   dad fetch my buttons a. said to express a surprise
ii.  dead and buried b. forgotten
iii. dead meat c. in danger of death or severe punishment
iv.  dollars to donuts d. to be certain about something
(A) i-a, ii-b, iii-c, iv-d (B) i-b, ii-a, iii-c, iv-d
(C) i-c, ii-d, iii-a, iv-b (D) i-b, ii-a, iii-d, iv-c
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12. Supply administrative term for “a state of temporary disuse or suspension”.
(A) Absorption (B) Abeyance (C) Prolongation (D) Elongation

13. Which of the following is not a synonym of ‘deprave’?
(A) strip (B) enrich (C) bereave (D) prevent

14. Which of the following is not an antonym of ‘malevoleht’?
(A) Amiable (B) Benign (C) Gracious (D) Malignant

15. Supply one word substitution for ‘A person appointed by two parties to solve a
dispute’.
(A) Envoy (B) Arbitrator (C) Herald (D) Harbinger

16. She decided to buy the bicycle _______ it was expensive. (Supply appropriate
conjunction).
(A) besides (B) although (C) rather (D) on the contrary

17. My aunt _______ is living in Palanpur told him _______ coming to meet the doctor.
(A) Whose, whose (B) Who's, whose
(C) Whose, whose (D) Who's, who's

18. One of the most challenging jobs is to _______ children.

(A) raise (B) rays (C) raze (D) raese

19. Despite his being _______ the teacher maintained his calm. (Insert ‘respect’ with
needful prefix and/or suffix, if necessary)
(A) respectful (B) respect (C) disrespectful (D) disrespect

20. Her baby cannot fall asleep _______ she stays in the room. (Use suitable
conjunction).
(A) Whether (B) Unless (C) Otherwise (D) inspite

Q.-11. Translate the following passage from Gujarati into English. (20)

økktÄeS rËÕne{kt rçkh÷k ¼ðLk{kt s Qíkhíkk. íku{Lkk suðk {qzeðkËeLku íÞkt økktÄeS hnuíkk íkuÚke «òLkk yuf
ðøkoLku yu øk{íkwt Lknª. rçkh÷k økktÄeSLkku ¾kuxe heíku ÷k¼ WXkðu Au yuðwt Ãký yu ðøko fnuíkku. íku{Lku økktÄeS
rðLkkuË{kt fnuíkk fu, ‘nwt Ãkkfku ðkrýÞku Awt. rçkh÷kS {Lku ðxkðe þfu yu{ LkÚke.’
yuf ðkh rçkh÷k ¼ðLk{kt økktÄeSLkku ðMkðkx níkku. Mkðkh{kt íkuyku MLkkLkLke íkiÞkhe{kt níkk. Ãký LkknðkLke
ykuhze{kt rçkh÷kS MLkkLk fhíkk níkk. íkuyku MLkkLk fheLku çknkh ykÔÞk ÃkAe økktÄeS ytËh økÞk. ytËh sELku
òuÞwt íkku rçkh÷kSLkwt ¼eLkwt ÄkuríkÞwt Ãkzu÷wt níkwt. íkuLku çkkswyu {qfeLku MLkkLk fhðk fhíkkt økktÄeSyu íku òíku s ÄkuE
LkkÏÞwt yLku ÃkAe Lkknðk çkuXk. rçkh÷kSLkku Lkkufh ÄkuríkÞwt ÷uðk ykðu íku Ãknu÷kt íkku îkh çktÄ ÚkE økÞu÷wt økktÄeSyu
ÃkkuíkkLkwt ÄkuríkÞwt Ãký òíku s ÄkuE LkkÏÞwt. yu çktLku fÃkzkt ÷E íkuyku çknkh ykÔÞk yLku Ëkuheyu Mkqfðíkk níkk íku
Ëhr{ÞkLk rçkh÷kS Wíkkð¤k ykðe ÃknkUåÞk.
‘yhu çkkÃkw ! çkkÃkw ! yk þwt fhku Aku ?’ fne ÃkkuíkkLkwt ÄkuríkÞwt økktÄeSLkk nkÚk{ktÚke ¾U[ðk ÷køÞk. ÄkuríkÞwt Mkqfðíkk
Mkqfðíkk økktÄeS çkkuÕÞk : ‘{U ÄkuÞwt íkuÚke çkøkze þwt økÞwt ? ytËh Ãkzu÷wt níkwt. íkuLkk Ãkh fkuELkku {u÷ku Ãkøk Ãkzu íkuLkk
fhíkkt ÄkuELku MðåA fÞwO yu íkku Mkkhwt s ÚkÞwt Lku ?’
økktÄeS suðk {nkÃkwhw»ku ÃkkuíkkLkwt ÄkuríkÞwt ÄkuÞwt íkuLkku ¾uË yLku LkknðkLke ykuhzeLke íkhík MkkV fhðkLke çkuËhfkhe
{kxu rçkh÷kSLku ÃkùkíkkÃk Úkðk ÷køÞku. þwt çkku÷ðwt íku íku{Lku Mk{òÞwt Lknª. ÃkAe Úkkuze ðkhu íkuyku çkkuÕÞk :
‘ykx÷ku çkÄku fk{Lkku çkkuòu nkuðk Aíkkt çkkÃkw ! ík{u yu þk {kxu ÄkuÞwt ?’
økktÄeS : ‘SðLk{kt MðåAíkkLkk fkÞo rMkðkÞ ð¤e çkeswt {kuxwt fkÞo fÞwt ?’
rçkh÷kS þwt çkku÷u ?
MðåAíkk rðþu økktÄeSLkk fzf ykøkúnLkku ÏÞk÷ rçkh÷kSLku níkku s Ãký MðåAíkkLke ykx÷e Ÿ[e {kºkkLkku
yLkw¼ð íkku yk «Mktøku s ÚkÞku.



PSM-3 ] 1 P.T.O.

PSM - 3
General Studies - 1 (Mains)
Mkk{kLÞ yÇÞkMk - 1 ({wÏÞ Ãkheûkk)

Mk{Þ : 3 f÷kf Time : 3 Hours
fw÷ økwý : 200 Total Marks : 200

Mkq[Lkk : (1) çkÄk s 20 «&™kuLkk sðkçk ÷¾ðkLkk Au.
Attempt all 20 questions.

(2) Ëhuf «&™Lkk 10 økwý Au.
Each question carries 10 marks.

(3) sðkçk ykþhu 200 þçËku{kt ÷¾ðk.
Answer should be given approximately in 200 words.

«.-1. “økwÃík Mkk{úkßÞLke fÕÞkýfkhe AºkAkÞk nuX¤ hkßÞLkk ykŠÚkf {k¤¾k{kt ¾uíke, ÔÞkÃkkh yLku WãkuøkkuLkku LkkUÄÃkkºk
rðfkMk ÚkÞku.” [[ko fhku.

“There was a noteworthy development of agriculture, trade and industries in the economic
structure of the state under the welfare protection of Gupta empire.” Discuss.

«.-2. “økwshkíkLkk Mkku÷tfe ðtþLkk Mk¥kkfk¤ ËhBÞkLk hksfeÞ yLku MkktMf]ríkf ûkuºku MkwðýoÞwøk «ðíÞkuo.” [[ko fhku.

“A golden era in the political and cultural sector trended during the reign of Solanki dynasty of
Gujarat.” Discuss.

«.-3. “çku rðïÞwØkuyu, hk»xÙeÞ [¤ð¤kuyu íku{s çkË÷kÞu÷k ykŠÚkf Mktòuøkkuyu 20{e MkËe{kt Mkk{krsf MkwÄkhýk{kt {n¥ðLke
¼qr{fk ¼sðe Au.” rððu[Lkkí{f {qÕÞktfLk fhku.

“The two world wars, nationalist movements and the changed economic circumstances played
an important role in social reforms in the 20th century.” Critically evaluate.

«.-4. MðkíktºÞ Mktøkúk{Lkk ykÍkË ®nË VkusLkk «ËkLk WÃkh LkkUÄ ÷¾ku.

Write a note on the contribution of Indian army in Independence struggle.

«.-5. ÃkÕ÷ð yLku [ku¤ hkßÞku{kt rðfMku÷e {trËh MÚkkÃkíÞ þi÷eLkk ÷ûkýkuLkwt ðýoLk fhku.

Describe the features of temple architecture style developed in the states of Pallava and Chola.

«.-6. økwshkíke [÷r[ºkku{kt rð»kÞðMíkwLkk rLkYÃký{kt çkË÷kíke síke {kðsík yLku íkuLkk Mk{ks Ãkh «¼kðLkwt {qÕÞktfLk fhku.

Evaluate the changing treatment of subject matter in Gujarati films and its influence on society.

«.-7. rðï¼h{kt yòuz økýkíkkt økwshkíkLkk nðu÷e MÚkkÃkíÞ Ãkh LkkUÄ ÷¾ku.

Write a note on the Haveli architecture of Gujarat which is considered as unparalleled in the
world.

«.-8. økwshkíke htøk¼qr{{kt «kÞkuøkkí{f LkkxfkuLke ÷kufMðef]ríkyku yuf [e÷ku [kíkÞkuo Au. [[ko fhku.

The public acceptability of experimental plays has paved a new trend in Gujarati theatre. Discuss.

«.-9. økwshkík{kt ykðu÷k støk÷kuLkk «fkhku sýkðku yLku íku Ãkife fkuE Ãký çku WÃkh LkkUÄ ÷¾ku.

Mention the types of forests in Gujarat and write a note of any two of them.
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«.-10. økwshkík{kt ½xíkk síkk òrík«{kýLkwt rð&÷u»ký fhku yLku íkuLkk WÃkkÞku Mkq[ðku.

Analyze the decreasing sex ratio in Gujarat and suggest its measures.

«.-11. M{kxo Mkexe{kt ÔÞkÃkf rðfkMkLke rðþu»kíkkykuLkwt ðýoLk fhku.

Discuss the typical features of comprehensive development in smart cities.

«.-12. s¤«Ëq»kýLku fuðe heíku yxfkðe þfkÞ ?

How can the water pollution be stopped ?

«.-13. DRDO îkhk rðfMkkððk{kt ykðu÷e rÃkLkkfk r{MkkE÷ MkeMx{ rðþu LkkUÄ ÷¾ku.

Write a note on Pinaka Missile System developed by DRDO.

«.-14. GSLV (Geosynchronous Satellite Launch Vehicle) yLku PSLV (Polar Satellite Launch Vehicle)
ðå[uLkku ¼uË Mk{òðku.

Explain the difference between GSLV (Geosynchronous Satellite Launch Vehicle) and PSLV
(Polar Satellite Launch Vehicle).

«.-15. “Mkk{kLÞ {kLkðe MkwÄe rðrðÄ Mkhfkhe ÞkusLkkyku yLku íkuLkk ÷k¼ ÃknkU[e þfu íku {kxu E-økðLkoLMkLke ¼qr{fk rLkýkoÞf
nkuÞ Au.” [[ko fhku.

“The role of e-governance is crucial to ensure that various government schemes and its benefits
reach the common man.” Discuss.

«.-16. “MktþkuÄLk yLku rðfkMkLku «kuíMkknLk ykÃkðk {kxu ELxu÷uõ[wy÷ «kuÃkxeo hkExTMkLkwt hûký yrLkðkÞo Au.” rððu[Lkkí{f
{qÕÞktfLk fhku.

“It is mandatory to protect Intellectual Property Rights to boost research and development.”
Critically evaluate.

«.-17. íkksuíkh{kt ¼khík Mkhfkh îkhk Q¼ku fhðk{kt ykðu÷k “[eV ykìV zeVuLMk MxkV”Lkk nkuÆkLkwt {n¥ð Mk{òðku.

Explain the importance of the recently created post of “Chief of Defence Staff” by the Government
of India.

«.-18. økwshkík Mkhfkh îkhk íkksuíkh{kt «kËurþf ðknLkÔÞðnkh f[uhe (ykhxeyku)Lke fk{økehe{kt ÃkkhËŠþíkk yLku Mkh¤íkk
÷kððk {kxu ÷uðk{kt ykðu÷k Ãkøk÷kykuLke Mk{eûkk fhku.

Review the recent measures taken by the Government of Gujarat to bring transparency and
ease in the working of Regional Transport Office (RTO).

«.-19. {æÞ-ÃkqðoLkk Ëuþku{kt íkksuíkhLkk yktíkhhk»xÙeÞ ystÃkkLke ¼khík ÃkhLke yMkhku [fkMkku.

Examine the impact of the recent international restlessness in Middle-East countries on India.

«.-20. íkksuíkh{kt hsw fhðk{kt ykðu÷k ð»ko 2020-2021 {kxuLkk ytËksÃkºk{kt f]r»kûkuºkLkk rðfkMk {kxuLkk Mkku¤ MkqºkeÞ ykÞkusLkLke
[[ko fhku.

Discuss the 16 points planning for the development of Agriculture sector in the recenly presented
budget for the year 2020-2021.



PSM-4 ] 1 P.T.O.

«.-1. fxkufxe ytøkuLke òuøkðkEyku çkkçkíku çktÄkhýLkk yLkwåAuË 352 yLku yLkwåAuË 356 ðå[uLkku íkVkðík Mk{òðku.

Explain the difference between article 352 and article 356 of the constitution regarding the
provisions related to emergency.

«.-2. Mkðkuoå[ yËk÷ík{kt íkËÚko (ad hoc) LÞkÞkÄeþku yLku rLkð]ík LÞkÞkÄeþkuLke rLk{ýqtf ytøkuLke òuøkðkEykuLkwt ðýoLk fhku.

Describe the provisions for the appointment of ad hoc judges and retired judges in the Supreme
Court.

«.-3. MktMkËeÞ rðþu»kkrÄfkhku yLku «ríkhûkk Ãkh LkkUÄ ÷¾ku.

Write a note on Parliamentary privileges and immunities.

«.-4. “MktMkËeÞ ÷kufþkne {kxu çktÄkhý{kt ½zðk{kt ykðu÷wt íku LkðeLk ÷ûký Au.” çkkçkkMkknuçk yktçkuzfhLkk hkßÞLkeríkLkk
{køkoËþof rMkØktíkku {kxu fhðk{kt ykðu÷k yk rðÄkLkLkwt rð&÷u»ký fhku.

“It is a novel feature framed in constitution for Parliamentary democracy.” Analyze this statement
made by Babasaheb Ambedkar for Directive Principle of State Policy.

«.-5. çktÄkhý{kt MkwÄkhku fhðkLke fkÞoherík ðýoðku yLku fkuE Ãký yuf {n¥ðLkk çktÄkhýeÞ MkwÄkhk WÃkh LkkUÄ ÷¾ku.

Describe the procedure of making amendment in constitution and write a note on any one of the
important constitutional amendments.

«.-6. ðiÄkrLkf, rLkÞ{Lkfkhe yLku yÄo-LÞkrÞf MktMÚkkyku ðå[uLkku íkVkðík WËknhýku ykÃkeLku Mk{òðku.

Explain the difference between statutory, regulatory and quasi-judicial authorities with examples.

«.-7. ònuh Mkuðk yrÄrLkÞ{Lke LkkøkhefkuLkk n¬kuLku ÷økíke yøkíÞLke òuøkðkEykuLkwt ðýoLk fhku.

Describe the important provisions of the Public Service Act. regarding the rights of the citizens.

«.-8. ¼khík{kt MºkeykuLkk yrÄfkhkuLku ÷økíke rðrðÄ òuøkðkEyku Ãkh LkkUÄ ÷¾ku.

Write a note on various provisions pertainting to the women rights in India.

«.-9. {qÕfe Mkuðk{kt MÃküíkk yu W¥khËkrÞíðLkku ykð~Þf ½xf Au.W¥khËkrÞíðLku ðÄkhðk {kxuLkk fux÷kf ÞkuøÞ Ãkøk÷kt Mkq[ðku.

Clarity is a necessary component of accountability. Suggest some suitable measures to enhance
accountability.

PSM - 4
General Studies - 2 (Mains)
Mkk{kLÞ yÇÞkMk - 2 ({wÏÞ Ãkheûkk)

Mk{Þ : 3 f÷kf Time : 3 Hours
fw÷ økwý : 200 Total Marks : 200

Mkq[Lkk : (1) çkÄk s 20 «&™kuLkk sðkçk ÷¾ðkLkk Au.
Attempt all 20 questions.

(2) Ëhuf «&™Lkk 10 økwý Au.
Each question carries 10 marks.

(3) sðkçk ykþhu 200 þçËku{kt ÷¾ðk.
Answer should be given approximately in 200 words.
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«.-10. íkksuíkhLkk ð»kkuo{kt Mkk{krsf ûkuºkLkk rðfkMkLkk {kxuLke MkhfkhLke {wÏÞ Lkeríkyku yLku ËhBÞkLkøkeheLkwt ðýoLk fhku.

Describe the major Government policies and interventions for the development of social sector
in recent years.

«.-11. ¼khíkeÞ Mk{ks{kt Lkiríkf {qÕÞku yLku Mkkhe ykËíkkuLku XMkkððk {kxu Mkk{krsf çkrn»fkh yLku MkòLke WÃkÞkurøkíkk çkkçkíku
ykÃkLku {tíkÔÞku Mk{òðku.

Explain your views about the utility of ostracism and punishment in inculcating moral values
and good habits in Indian society.

«.-12. ¼kðLkkí{f çkwrØ{íkkLkk {wÏÞ ÃkkMkktyku sýkðku.

Mention the main aspects of emotional intelligence.

«.-13. “íkfLkefe «økríkykuyu {kLkðSðLkLku ykhk{ËkÞf çkLkkÔÞwt Au Ãkhtíkw Mk{ks{kt {kLkð{qÕÞkuLke yÄkuøkrík íkhV Ãký Ëkuhe
økÞwt Au.”  [[ko fhku.

“Technological advancements have made human life comfortable but has also led to degeneration
of human values in the society.” Discuss.

«.-14. “yuf [ku¬Mk íkçk¬k çkkË ÔÞÂõíkøkík ðíkoýqtf MktMÚkkfeÞ ðíkoýqtf MkkÚku yuf Mkh¾e ÚkE òÞ Au.” þwt ykÃk Mkt{ík Úkkð
Aku ? ¾w÷kMkkðkh Mk{òðku.

“After a certain phase, personal conduct becomes synonymons with Institutional conduct.” Do
you agree ? Elucidate.

«.-15. ÃkkhËþof yLku sðkçkËkh rLkýoÞ«r¢Þk îkhk fux÷k ytþu ¼úük[kh ½xkze þfkÞ ? økwshkík Mkhfkh îkhk íkksuíkh{kt
fux÷ef «r¢Þkyku “ykuLk-÷kELk” fhðk{kt ykðe Au íku MktË¼uo íkuLke [[ko fhku.

To what extent can corruption be decreased through transparent and accountable decision-
making ? Discuss this in reference to some processes made “on-line” by Government of Gujarat
recently.

«.-16. Lkerík ykÞkuøkLkk WÆuþku yLku rðþu»kíkkykuLkwt ðýoLk fhku.

Describe the objectives and features of NITI Aayog.

«.-17. ònuh ¾[o yux÷u þwt ? «ðíko{kLk ¼khíkeÞ yÚkoíktºk{kt ònuh ¾[oLkk fËLke ¼qr{fkLke [[ko fhku.

What is public expenditure ? Discuss the role of the size of public expenditure in the prevalent
Indian economy ?

«.-18. ¼khík{kt økúk{eý rðfkMkLkk ÃkzfkhkuLkwt ðýoLk fhku.

Discuss the challanges of rural development in India.

«.-19. rðËuþe MktMÚkkfeÞ hkufký (FII) Lke ¼khíkLkk Mxkuf {kfuox - þuhçkòh ÃkhLke yMkhkuLke [[ko fhku.

Discuss the impact of Foreign Institutional Investment (FII) on the Stock Market - Share Market
of India.

«.-20. økwshkík hkßÞ {kxu íkiÞkh ÚkE hnu÷kt “huÕðu {kMxh Ã÷kLk”Lke rðþu»kíkkyku Ãkh LkkUÄ ÷¾ku.

Write a note on the features of “Railway Master Plan” being prepared for the state of Gujarat.
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